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ot | HED, o
i85 |HEZAT ]| B BH|ERBEE = BEEN
PAC1 BE GHP W AE=bE Y7 I7IVEHP)| 1 25.2 23.3 1.596
PAC2 Bt GHP W AE=bE Y7 I7IVEHP)| 1 25.2 23.3 1.506
PAC3 Bt GHP B AE—MEY7 T7IV(10HP)| 1 30.75 29.5 2.62
PAC4 Bt GHP B AE—MEY7 T7IV(13HP)| 1 39 32.7 2516
PAC5 Bt GHP W AE—MEY7 T7IV(13HP)| 1 39 32.7 2.204
PAC6 Bt GHP W AE—ME Y7 T7IV(16HP)| 1 49 46.9 2.446
PAC7 Bt GHP B AE—MEY7 TPIV(10HP)|] 2 30.75 29.5 2.182
PAC8 Bt GHP B AE—MEY7 TPIV(10HP)| 1 30.75 29.5 1.583
PAC9 Bt GHP B AE—MEY7 T7IV(13HP)| 1 39 32.7 2.434

pioten | BED weay
i85 |RESEAT FE 7l it BH|ERBEE ij g8

(kw) (m3/h) (kw)

R-1 BLE [Z=At-byrkEsazyt 1 363.7 — 115.8
AHU-101| Bt [/KFERIZAUN)LY 1Z9b 1 94.9 — 30
AHU-102] Bt [/KFERIZAUN)LY 1Z9b 1 65.4 — 7.5
AHU-103] Bt [/KFERIZAUN)LY 1Z9b 1 7.7 — 2.7
AHU-201| Bt [/KFERIZAUN)LY 1Z9b 1 146.6 — 7.5
PAC-101| Bt [ZTAE-IYInyF=Y 1 15 — 4.095
PAC-201| B ETIA [T ALY Nyh= 1 34 — 0.801
PAC-202| B _ETIR |Z=At-tv7 W olr—y (b—h172Y) 1 2.8 - 0.796
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pioten | B meay

i85 |HESEAT FE 71 it BH|ERBEE ij g8
w) | gpy | kW)
RP B4 K FEER i 1 154.8 15.6 11.1
ACU-1 | 2FE1R EHP IRED, 1 30.8 — 7.51
ACU-2 | 2FE1R EHP 4%y 2 15.4 — 3.75
BAHERER i
pioten | B | meay
i85 |HESEAT FE 71 it BH|ERBEE ij g8
Gw) | (apy | W)
CH E5 mmKFEER 1 116 8.62 5.51
AC-1 E 4t EHP 1 26.5 — 10
AC-2 E 4t EHP 1 26.5 — 9.99
AC-3 E 4t EHP 2 13.25 — 4.6




